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LINGU(ISTIC)A INGLESE (Mediazione Linguistica)
Surname  _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _| _ | _| _| _|

Name _| _| _| _| _| _| _| _| _| _| _| _| _|   Matr. no. _| _| _| _| _| _| _| _|  April 22nd, 2006
1. Circle the pairs of words that are not homophones:

suite-sweet cereal-serial bury-berry reign-rain paws-pause kernel-colonel
2. Turn into the passive voice:

The boys have eaten all the apples

…………………………………………………………………………………………………..

Mrs Lincoln has three children
……………………….…………………………….……………………….……………………….
He dressed himself in a hurry
……………………………………………………………………………………………………….

I remember you very well

……………………………………………………………………………………………………….

Sharon washed her hands very carefully

……………………………………………………………………………………………………….

Bob studies Economics at Oxford

……………………………………………………………………………………………………….

3. Complete the following statements:

· Graduate is pronounced  /%gr&Ùu"eIt / when it is a noun or adjective ;    a verb ;    never .

· The endings <–s> , <-es> etc. are pronounced / -Iz / after the sounds / ___   ___   ___   ___   ___   and ___ /. 

· The process that changes /tj/ into /Í/ is called _____  ______________.

· The pronunciation /Di aI"dI@r @v It/ for The idea of it contains an example of ______________.

· Weak forms are the _______ pronunciations of _______ words.

4. Analyse the following sentences in terms of kernel patterns (using S V O C A):

— Lloyd’s, whose origins go back to the 17th century, is an incorporated society.

Main clause: ………….

Subordinate clause: ……………

— Although its activities were originally confined to marine insurance, a world-wide market has been built up. 
Main clause: ………… 

Subordinate clause: ………….

5. Change the following sentences in order to obtain (a) a cleft sentence and (b) a pseudo-cleft sentence:

·  Rose goes to the station by car on Saturdays.

a) ……………………………………………………………………………………..

b) ……………………………………………………………………………………..

·  John retired at the end of October.

a) ……………………………………………………………………………………..

b) ……………………………………………………………………………………..

6. List the following words under the appropriate headings:

star quasar registrar modular roll-bar avatar inter-stellar calendar dorso-velar sugar rainwear caviar radar

Derivatives: ……………………………………………………………………………………………

Compounds: …………………...………………………………………………………………………

Blends: ……………………………...…………………………………………………………………

Acronyms:  .………………………...…………………………………………………………………

Others: ……………………………...…………………………………………………………………

7. Complete the following sentences:

· “It is well-known that the English language is a multi-standard language” contains an example of ______________ it.

· The three basic types of questions are a) _____________________, b) _____________________ and c) _____________________. A fourth type found in FAQs is called _____________________. 

· ESP texts belong to two main types: a) ________________ and b) ______________. Type (a) is further subdivided into _____________________ and _____________________; type (b) is further subdivided into formulation and _____________________.

8. Complete the idioms or proverbs:

 ______________ was not built in a day.

When in _______, do as the ______________ do. 

All roads lead to _______.

Nothing  succeeds like _______.

Better be alone than in _______ company.

